Sl. No	Name of location	Revenue District	Type of RO	monthly Sales I	Category	Type of Site*	ım Dimension		of the site (in So	the ap	e arranged by plicant	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7		8		9a	9b	10	11	12
					SC SC CC-1 SC CC-2	CC / DC / CFS	-							
					SC PH ST		-				Estimated			
					ST CC-1 ST CC-2					Estimated working	fund required for			
			Rogular / Rura	MS+HSD in Kls	ST PH		Erontago	Donth	Aroa	capital	development	Draw of Lots	Rs. in Lakhs	Rs. in Lakhs
			Regular / Rura	IVI3TH3D III KIS	OBC		Frontage	Depth	Area	requirement for operation	of	/ Bidding	NS. III LAKIIS	NS. III LAKIIS
					OBC CC-1 OBC CC-2		-			of RO	infrastructur e at RO			
					OBC CC-2 OBC PH		-			(Rs. in Lakhs)	(Rs. in Lakhs)			
					OPEN		-				(,			
					OPEN CC-1									
					OPEN CC-2									
1	2		3 4	5	OPEN PH 6	7	8	9	10	11	12	13	14	15
1	Z At BARGACHIA on Howrah-Bargachia Amta Road	HOWRAH	REGULAR	150	OBC	DC	35	35	10	25	60	Draw of Lots	14	4
2	KHEJURTALA, KONA EXPRESSWAY	HOWRAH	REGULAR	200	OBC	CC	35	35	1225	25	10	Bidding	30	4
3	At Kartlia Jhowtala on Howrah Amta Road	HOWRAH	REGULAR	150	OBC	СС	35	35	1225	25	10	Bidding	30	4
4	Within 10 KM from Dhulagarh Toll Plaza on NH 6 towards Uluberia	HOWRAH	REGULAR	150	Open CC 2	DC	35	45	1575	25	75	Draw of Lots	15	5
5	At-Gagan on Bagnan Amta Road(SH-15)	HOWRAH	REGULAR	150	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
6	At Kaijuri on NH6, LHS from Uluberia towards Bagnan	HOWRAH	REGULAR	200	OBC	CC	35	45	1575	25	10	Bidding	30	4
7	From Kona more to jagdishpur on Benaras Road (RHS)	HOWRAH	REGULAR	180	OBC	DC	35	35	1225	25	45	Draw of Lots	15	4
8	Between Baltikuri and Salap more (On Howrah Amta Road)	HOWRAH	REGULAR	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
9	From Dhulagarh Toll to Ranihati Crossing towards Kolkata - RHS on NH6	HOWRAH	REGULAR	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
10	On NH 6 Between KM stone 64 and 71 on LHS from Bagnan to Kolaghat	HOWRAH	REGULAR	150	SC PH	CFS	35	45	1575	0	0	Draw of Lots	0	3
11	At Chandrapur towards Bagnan on NH 6 (LHS) Between KM Stone 60 to 64	HOWRAH	REGULAR	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
12	From Panchala to Uluberia on NH 6 (LHS) Between KM Store 45 to 50	HOWRAH	REGULAR	170	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
13	On Uluberia-Matapara Road	HOWRAH	REGULAR	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
14	Dhulagari-Domjur Road via Begri	HOWRAH	RURAL	70	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
15	5 Km away from Uluberia on Uluberia-Amta Road	HOWRAH	RURAL	100	Open	DC	30	30	900	12	30	Draw of Lots	5	4
16	Jagdishpur to Moubesia on Uluberia-shyampur road	HOWRAH	RURAL	60	Open	DC	30	30	900	12	30	Draw of Lots	5	4
17	On Pachla Road (Panchla - Mirbazar - Bauria)	HOWRAH	RURAL	60	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
18					OBC	DC	20	17	340		60			4
19	Within 3.5 KMs from Crossing of Garia Station Road & EM BYPASS towards Gangajoara In between crossing of Santoshpur Road- Railway Line Road and crossing of Santoshpur Road	KOLKATA	REGULAR	150		CFS				25 0		Draw of Lots	15 0	3
20	- SA Farooque Road (on Santoshpur Road) on railway line road in between crossing of Santoshpur Road- Railway Line Road and	KOLKATA KOLKATA	REGULAR	170 200	SC OBC	CFS	20 20	20 17	400 340	25	0	Draw of Lots Bidding	30	4
	crossing of Railway line road- SA Farooque Road													
21	Ruby Crossing to Chingrighata Crossing on E M By-Pass	KOLKATA	REGULAR	250	Open	СС	26	20	520	25	10	Bidding	30	5
22	On either side of Rashbihari Avenue Connector between Ruby Crossing to Gariahat Crossing	KOLKATA	REGULAR	250	Open	СС	26	20	520	25	10	Bidding	30	5
23	Within 7 KMs from crossing of Behala Chowrasta towards Dakhghar on Biren Roy Road	KOLKATA	REGULAR	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
24	Prince Anwarshah Connector Road on any side from crossing of EM By-pass to Jadavpur Thana	KOLKATA	REGULAR	150	SC	CFS	20	17	340	0	0	Draw of Lots	0	3
25	Within 2 KM from Crossing of EM By-pass and Mukundupur Main Road on Mukundupur Main Road or in Nayabad Main Road	KOLKATA	REGULAR	150	Open	СС	20	20	400	25	10	Bidding	30	5
26	Within Nabadwip Municipality Limit	NADIA	REGULAR	160	Open	DC	30	30	900	25	60	Draw of Lots	15	5
27	Chakdah to Ranaghat on NH 34 (KM Stone 67 to KM Stone 78)	NADIA	REGULAR	200	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
28	From Nazirpur to Nandanpur on Krishnanagar Karimpur Road(SH-11) (LHS)	NADIA	REGULAR	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
29	On NH 34 between KM Stone 115 and 130 towards Baharampur on LHS	NADIA	REGULAR	200	Open	CC	35	45	1575	25	10	Bidding	30	5
30	Ranaghat to Phulia on NH 34 (KM Stone 79 to KM Stone 89)	NADIA	REGULAR	180	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4

21	1.5 KM from Bagula Railway Gate on Hanaskhali to Duttaphulia Road (LHS towards			1								1		
31	Duttaphulia)	NADIA	REGULAR	110	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
32	Between Ranaghat & Aranghata on Ranaghat Aranghata Road	NADIA	REGULAR	100	ST	CFS	30	30	900	0	0	Draw of Lots	0	3
33	Birnagar Level Crossing to Birnagar Bazar on Ranaghat Krishnanagar By-pass	NADIA	REGULAR	100	Open CC 1	DC	30	30	900	25	60	Draw of Lots	15	5
34	From Betai to Chhatina on Krishnanagar Karimpur Road (LHS)	NADIA	REGULAR	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
35	From Bajitpur to Karimpur Bus Stand on SH-11 (RHS)	NADIA	REGULAR	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
36	Taherpur level crossing to Taherpur Police Station on Ranaghat Krishnagar By-pass	NADIA	REGULAR	100	OBC CC 1	DC	30	30	900	25	60	Draw of Lots	15	4
37	Between Debogram to Ballavpara on Debogram-Katwa Ghat Road	NADIA	REGULAR	100	SC CC 1	CFS	30	30	900	0	0	Draw of Lots	0	3
38	Krishnanagar Road Station More to Jahagirpur More	NADIA	REGULAR	100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
39	From Boro Jagulia to Chakdah on NH 34 LHS (KM Stone 50 to KM Stone 65)	NADIA	REGULAR	300	Open	CC	35	45	1575	25	10	Bidding	30	5
40	Between KM 100 to 110 on NH34 towards Baharampur	NADIA	REGULAR	200	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
41	Between Thaner para Thana to Natidanga More	NADIA	RURAL	84	Open	CC	30	30	900	12	5	Bidding	10	4
42	Mahishbathan Crossing to Murutia PS on Murutia Road	NADIA	RURAL	72	OBC	DC	30	30	900	12	30	Draw of Lots	5	3
43	Between Duttapulia to Panikhali on Aranghata -Panikhali - Duttaphulia Rd	NADIA	RURAL	72	OBC	DC	30	30	900	12	30	Draw of Lots	5	3
44	Within 5 KM of Mayapur on Choughacha More to Mayapur Ghat (Hulor Ghat) Road	NADIA	RURAL	72	OBC	DC	30	30	900	12	30	Draw of Lots	5	3
45	Debagam towards Chanderghat (within 5 KM from Barnia Bazar on either side)	NADIA	RURAL	72	OBC	DC	30	30	900	12	30	Draw of Lots	5	3
46	Between Mahishbathan crossing to Goas Bazar on Murutia Road	NADIA	RURAL	72	Open	DC	30	30	900	12	30	Draw of Lots	5	4
47	From Helencha Duttaphulia crossing to Bhowanipur Pally Mangal Vidyapith on Helencha Duttaphulia Road	NORTH 24 PARGANAS	REGULAR	110	OBC	DC	30	30	900	25	60	Draw of Lots	15	4
48	Bibipur Begampur High School to Beki Bazar towards Bashirhat on Taki Road (LHS)	NORTH 24 PARGANAS	REGULAR	200	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
49	Between Gaighata Jaleswar More to Chandpara Sabji Mandi on NH 35	NORTH 24 PARGANAS	REGULAR	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
50	Between Ashoknagar to Guma Chowrastha on NH 35	NORTH 24 PARGANAS	REGULAR	200	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
51	From Deganga PS to Kauke Para (LHS) on Taki Road	NORTH 24 PARGANAS	REGULAR	150	Open	CC	35	35	1225	25	10	Bidding	30	5
52	Between Sapurji Palanji More to New Town Police Station-Sankarnetralaya Crossing On either Side	NORTH 24 PARGANAS	REGULAR	150	Open	CC	26	25	650	25	10	Bidding	30	5
53	From Chongda More to Kalasima Swami Vivekananda Vidyapith, Kalasima on NH 35	NORTH 24 PARGANAS	REGULAR	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
54	Between Jessore Road crossing On Belghoria Expressway and Baranagar, On belghoria Expressway on either side	NORTH 24 PARGANAS	REGULAR	150	Open CC 1	DC	30	30	900	25	60	Draw of Lots	15	5
55	Between Dunlop and Barrackpore Chiriamore on BT Road on RHS Towards Barrackpore	NORTH 24 PARGANAS	REGULAR	150	SC	CFS	25	20	500	0	0	Draw of Lots	0	3
56	From Asharu Bazar SBI to Bagda Gramin Hospital on Bangaon-Bagda Road	NORTH 24 PARGANAS	REGULAR	110	ST	CFS	30	30	900	0	0	Draw of Lots	0	3
57	within 4 KM from Wirelessmore on Barrackpore-Barasat Road	NORTH 24 PARGANAS	REGULAR	100	OBC	DC	30	30	900	25	60	Draw of Lots	15	4
58	Within 3 km from junction of sodepur barasat road and kalyani expressway, on Sodepur Barasat Road	NORTH 24 PARGANAS	REGULAR	150	Open	CC	26	20	520	25	10	Bidding	30	5
59	Between Madhyamgram Chowmatha & Badu Bazar towards Kharibari	NORTH 24 PARGANAS	REGULAR	110	OBC PH	DC	30	30	900	25	45	Draw of Lots	15	4
60	Within 2 KM from Dunlop More on Dunlop-Dakshineshwar Road on Either Side	NORTH 24 PARGANAS	REGULAR	170	OBC	DC	26	20	520	25	60	Draw of Lots	15	4
61	Between KM Stone 7 and 23 on Kalyani Expressway on RHS towards kalyani	NORTH 24 PARGANAS	REGULAR	110	Open	DC	30	30	900	25	60	Draw of Lots	15	5
62	Between KM Stone 7 and 23 on Kalyani Expressway on LHS towards kalyani	NORTH 24 PARGANAS	REGULAR	110	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
63	within 5 KM from Nimta PS Outpost on Kalyani Expressway towards Kalyani on LHS	NORTH 24 PARGANAS	REGULAR	150	ST	CFS	30	30	900	0	0	Draw of Lots	0	3
64	On connecting road between Nimta Police Station Outpost and BT Road	NORTH 24 PARGANAS	REGULAR	150	Open	DC	26	20	520	25	60	Draw of Lots	15	5
65	Within 7 KM from Kampa More towards Jaguli More on State highway	NORTH 24 PARGANAS	REGULAR	100	Open CC 1	DC	30	30	900	25	60	Draw of Lots	15	5
66	Between KM Stone 23 and 35 on Kalyani Expressway on RHS towards kalyani	NORTH 24 PARGANAS	REGULAR	110	OBC	DC	30	30	900	25	60	Draw of Lots	15	4
67	Between Dunlop and Barrackpore Chiriamore on BT Road on LHS Towards Barrackpore	NORTH 24 PARGANAS	REGULAR	150	Open	CC	25	20	500	25	10	Bidding	30	5
68	Within Kanchrapara Municipality on Major Motorable Road (Min 15 Ft) (Except Highway)	NORTH 24 PARGANAS	REGULAR	100	OBC	DC	30	30	900	25	45	Draw of Lots	15	4
69	Within 3 KM from New Town City Centre 2 on Major Road (Min 20 Feet Width)	NORTH 24 PARGANAS	REGULAR	150	Open	CC	20	20	400	25	10	Bidding	30	5
70	Within Bhatpara or Garulia Municipality on Major Motorable Road (Min 15 Ft) (Except Highway)	NORTH 24 PARGANAS	REGULAR	100	Open	DC	30	30	900	25	45	Draw of Lots	15	5
71	Sikharpur Crossing to Polerhat Crossing on Bhangore Road	NORTH 24 PARGANAS	RURAL	110	SC	CFS	30	30	900	0	0	Draw of Lots	0	2
72	Berachapa Baduria More to Jadurhati on Berachapa Baduria Road (LHS/RHS)	NORTH 24 PARGANAS	RURAL	130	Open	CC	30	30	900	12	5	Bidding	10	4

73	Hasnabad to Hijalganj on Hanabad Hingalgnj Road	NORTH 24 PARGANAS	RURAL	100	Open	DC	30	30	900	12	30	Draw of Lots	5	4
74	Within 2 KM of Madartala More on Haroa - Gopalpur Road	NORTH 24 PARGANAS	RURAL	80	Open	CC	30	30	900	12	5	Bidding	10	4
75	Within 3 km from Naihati Sahabcoloni More On Naihati-Habra Road	NORTH 24 PARGANAS	RURAL	50	Open	DC	30	30	900	12	30	Draw of Lots	5	4
76	Amdanga Crossing to Duttapukur Crossing on Amdanga Bira Road	NORTH 24 PARGANAS	RURAL	90	SC	CFS	30	30	900	0	0	Draw of Lots	0	2
77	Beyond 6 Kms but WITHIN 10 KMS from Crossing of EMBYPASS & BASANTI HIGHWAY towards BANTALA ON BASANTI HIGHWAY	SOUTH 24 PARGANAS	REGULAR	200	Open	сс	25	25	625	25	10	Bidding	30	5
78	Within 2 KM from crossing of Budge Budge Trunk Road & Akra Station road towards Akra Railway Station on Akra Station Road.	SOUTH 24 PARGANAS	REGULAR	200	Open	DC	20	17	340	25	60	Draw of Lots	15	5
79	Within 2.5 KMs from CESC Pujali Generation Station Gate No. 1(Main Gate) on B B T Road towrads Kolkata on RHS	SOUTH 24 PARGANAS	REGULAR	150	Open	DC	20	17	340	25	60	Draw of Lots	15	5
80	Within 3 Kms from Kabardanga Chawk towards Kabardanga on Nepalgunj-Julpia Road	SOUTH 24 PARGANAS	REGULAR	150	SC	CFS	20	17	340	0	0	Draw of Lots	0	3
81	Beyond 4 Kms but Within 9 KMs from crossing of EM Bypass & Baruipur-Amtala Road on RHS towards Garia	SOUTH 24 PARGANAS	REGULAR	100	Open	сс	30	30	900	25	10	Bidding	30	5
82	Beyond 4 KM but within 9 KMs from crossing of EM Bypass & Baruipur-Amtala road on LHS towards Garia	SOUTH 24 PARGANAS	REGULAR	100	Open	DC	30	30	900	25	45	Draw of Lots	15	5
83	Within 1 km From Baruipur municipality community hall on Baruipur-kulpi road (New Flyover Road) towards Baruipur Super Specciality Hospital	SOUTH 24 PARGANAS	REGULAR	150	Open	DC	20	17	340	25	45	Draw of Lots	15	5
84	Within 4 KM from crossing of EM Bypass & Baruipur-Amtala road on RHS towards Garia	SOUTH 24 PARGANAS	REGULAR	100	Open	сс	30	30	900	25	10	Bidding	30	5
85	Within 10 KMs from Namkhana Police Station on NH 117 towards Kakdwip on any side	SOUTH 24 PARGANAS	REGULAR	150	Open	DC	35	35	1225	25	75	Draw of Lots	15	5
86	With in 2 KM from Jaynagar PS on Baruipur Kulpi Road towards Gocharan from Jaynagar	SOUTH 24 PARGANAS	REGULAR	100	Open	сс	30	30	900	25	10	Bidding	30	5
87	Within 6 Kms from Hospital More towards Sonakhali on SH3	SOUTH 24 PARGANAS	REGULAR	100	Open	DC	30	30	900	25	60	Draw of Lots	15	5
88	Within 5 KMs from crossing of Basanti Highway & Ghatakpukur Road towards Minakha	SOUTH 24 PARGANAS	REGULAR	100	ОВС	DC	30	30	900	25	60	Draw of Lots	15	4
89	Within 1.5 Kms from crossing of Bhojerhut bridge road & SH3 on both side (Either towards Kolkata or Towards Ghatakpukur) on SH3	SOUTH 24 PARGANAS	REGULAR	100	ОВС	DC	30	30	900	25	60	Draw of Lots	15	4
90	With in 10 KMS from Crossing of Kulpi-Baruipur Road & NH-117 towards Kakdwip on any side	SOUTH 24 PARGANAS	REGULAR	150	sc	CFS	35	35	1225	0	0	Draw of Lots	0	3
91	From Kabardanga More to Crossing of James Long Sarani - Mahatma Gandhi Road on Mahatma Gandhi Road	SOUTH 24 PARGANAS	REGULAR	150	OBC	DC	20	17	340	25	60	Draw of Lots	15	4
92	Within 4 KM from crossing of EM Bypass & Baruipur-Amtala road on LHS towards Garia	SOUTH 24 PARGANAS	REGULAR	100	Open	сс	30	30	900	25	10	Bidding	30	5
93	Within 6 KMs from Intersection point of Shonepur Bridge & Canal Road towards Gabtola on Canal Road	SOUTH 24 PARGANAS	RURAL	50	Open	DC	30	30	900	12	30	Draw of Lots	5	4
94	With in 1.5 Kms from Krishnachandrapur High School towards Raidighi on Bishnupur- Raidhighi Road	SOUTH 24 PARGANAS	RURAL	50	sc	CFS	30	30	900	0	0	Draw of Lots	0	2
95	Within 3 KMs From crossing of Bodra-Deuli Road & Deuli-Manikha Road towards Manikha on Deuli-Manikhan Road	SOUTH 24 PARGANAS	RURAL	50	Open	DC	30	30	900	12	30	Draw of Lots	5	4
96	With In 5 Km from crossing of Sirakole-Serpur Road & Usthi road towards Dhamua on Sirakole-Serpur Road or Serpur-Dhamua Road	SOUTH 24 PARGANAS	RURAL	50	ST	CFS	30	30	900	0	0	Draw of Lots	0	2
97	Within 7 Km From Crossing of Nainan Road & Thakurpukur-Bibirhat-Bakhrahut-Raipur Road on Nainan Road towards Mallickpur	SOUTH 24 PARGANAS	RURAL	100	Open CC 1	DC	30	30	900	12	30	Draw of Lots	5	4
98	Within 1 KM from Hatugunj Crossing (NH-117) towards Usthi on USTHI - HATUGUNJ PWD ROAD (Village Hatugunj)	SOUTH 24 PARGANAS	RURAL	96	Open	сс	30	30	900	12	5	Bidding	10	4
99	WITHIN 10 KMS FROM CANNING POLICE STATION TOWARDS BARUIPUR ON BARUIPUR CANNING ROAD	SOUTH 24 PARGANAS	RURAL	50	SC	CFS	25	25	625	0	0	Draw of Lots	0	2
100	With in 2 Kms from Sangrampur Railway Station towards Hansury Post Office.	SOUTH 24 PARGANAS	RURAL	50	Open	DC	30	30	900	12	30	Draw of Lots	5	4
101	In Frezargunj Gram Panchayet (Not on NH)	SOUTH 24 PARGANAS	RURAL	50	OBC	DC	30	30	900	12	30	Draw of Lots	5	3
102	Between Dakshin Barasat Crossing & Mograhat Police Station on Mograhat Road	SOUTH 24 PARGANAS	RURAL	100	Open CC 2	DC	30	30	900	12	30	Draw of Lots	5	4
103	Within 4 KM From Crossing of Champahati-Ghatakpur Road & SH3 towards Bodra on Champahati-Ghatakpur Road	SOUTH 24 PARGANAS	RURAL	50	OBC CC 1	DC	30	30	900	12	30	Draw of Lots	5	3
104	From Crossing of Sonarpur - Bhangor road & Sonarpur -Bantala Road to Kheyeadaha Post Office towards Bantala	SOUTH 24 PARGANAS	RURAL	50	SC CC 1	CFS	30	30	900	0	0	Draw of Lots	0	2
105	Within 4 Kms from Crossing of Champahati-Ghatakpur Road & Chakberia-Ghutiari Sharif Road on Champahati-Ghatakpur Road	SOUTH 24 PARGANAS	RURAL	50	OBC	DC	30	30	900	12	30	Draw of Lots	5	3
106	Beyond 3 Kms but Within 6 Kms from Priyor More towards Jaynagar Police Station	SOUTH 24 PARGANAS	RURAL	50	Open	DC	30	30	900	12	30	Draw of Lots	5	4
107	With in 5 KMs from patharpratima BDO office on Ram Ganga Main Road	SOUTH 24 PARGANAS	RURAL	50	Open	DC	30	30	900	12	30	Draw of Lots	5	4

100	Mith in 2 Kars from the analysis of MU447.0 Mendousi David (Deilar Creation) tourned	1	1		1 1		1	1	1		1	1 1		1
108	With in 3 Kms from the crossing of NH117 & Nepalgunj Road (Pailan Crossing) towards Nepalgunj	SOUTH 24 PARGANAS	RURAL	50	OBC	DC	30	30	900	12	30	Draw of Lots	5	3
109	Within 5 Kms From Crossing of Nibaran Dutta Road & Thakurpukur-Bibirhat-Bakhrahat Road towards Thakurpukur on Thakurpukur-Bibirhat-Bakhrahat Road	SOUTH 24 PARGANAS	RURAL	50	Open	DC	30	30	900	12	30	Draw of Lots	5	4
110	WITHIN 7 KMS from SIRAKOL-NH117 Crossing ON SIRAKOL - USTHI PWD ROAD towards Usthi	SOUTH 24 PARGANAS	RURAL	50	Open	DC	25	25	625	12	30	Draw of Lots	5	4
111	Within 3 Kms on either side of Kankardanga More on SH-8	BANKURA	REGULAR	150	Open	CC	30	30	900	25	10	Bidding	30	5
112	Within 5 Kms from Fulberia More towards Barjora on SH-9	BANKURA	REGULAR	150	Open	CC	30	30	900	25	10	Bidding	30	5
113	Within 5 Kms from the intersection of NH 60A and SH-2 towards Purulia on NH 60A	BANKURA	REGULAR	150	OBC	DC	35	35	1225	25	75	Draw of Lots	15	4
114	Within 6 Kms from Jagganathpur Bus Stop on NH60A towards Purulia	BANKURA	REGULAR	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
115	Between Heavyr More to Dhaldanga More on NH 60	BANKURA	REGULAR	200	OBC CC 1	CC	35	35	1225	25	10	Bidding	30	4
116	Within 3 Kms of either side of Puruadihi Bus Stop (Near Jhilimili) on SH-5	BANKURA	REGULAR	100	Open	DC	30	30	900	25	60	Draw of Lots	15	5
117	Dhaldanga More to Ratanpur on SH-9	BANKURA	REGULAR	150	Open	CC	30	30	900	25	10	Bidding	30	5
118	Within 7 Kms of Durlavpur More towards Mejia on NH-60	BANKURA	REGULAR	150	Open	DC	35	35	1225	25	75	Draw of Lots	15	5
119	Within 3 Kms of KatjuriDanga More towards Saltora on SH-8	BANKURA	REGULAR	100	Open	DC	30	30	900	25	60	Draw of Lots	15	5
120	Between Dhaldanga More to Kalisen High School on NH-60	BANKURA	REGULAR	150	Open	DC	35	35	1225	25	75	Draw of Lots	15	5
121	Within 7 Kms of Bishnupur Station Rail Gate towards Kharagpur on NH-60	BANKURA	REGULAR	150	Open	DC	35	35	1225	25	75	Draw of Lots	15	5
122	Within 10 Kms from Heavyr More towards Raniganj on NH 60	BANKURA	REGULAR	150	Open	DC	35	35	1225	25	75	Draw of Lots	15	5
123	Within 5 Kms of Jhargram border towards Fulkusuma on SH-9	BANKURA	REGULAR	80	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
124	Bankura within Municipal Limits on any main Road (Min 6 Mtrs width, Not on NH/SH)	BANKURA	REGULAR	160	Open	сс	20	20	400	25	10	Bidding	30	5
125	Within 6 kms of Gangajalghati Police Station towards Bankura on NH-60	BANKURA	REGULAR	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
126	Within 7 kms of Beliatore chowk towards sonamukhi on SH-8	BANKURA	REGULAR	100	Open	DC	30	30	900	25	60	Draw of Lots	15	5
127	Within 6 Kms from Barjora More towards Durlavpur on Maliara - Barjora Road	BANKURA	REGULAR	120	Open	DC	25	25	625	25	45	Draw of Lots	15	5
128	Within 5 Kms of Bhora Bus stop (Either side) on Bhora - Jairampur - Nikunjapur - Jaikrishnapur Road	BANKURA	RURAL	75	OBC	DC	30	30	900	12	30	Draw of Lots	5	3
129	Within 5 Km of Indas Railway Station On Indas-Sahaspur Road	BANKURA	RURAL	80	Open	DC	30	30	900	12	30	Draw of Lots	5	4
130	Chousal on Durlavpur Barjora Road	BANKURA	RURAL	80	Open	DC	30	30	900	12	30	Draw of Lots	5	4
131	Within Joykrishnapur Bus Stop to SH-8 Junction near Sonamukhi on Jaykrishnapur Sonamukhi Road	BANKURA	RURAL	75	OBC	DC	30	30	900	12	30	Draw of Lots	5	3
132	Within Fulberia More Bus Stop to Desuria More on Fulberia- Ramharipur-Desuria Road	BANKURA	RURAL	70	OBC	DC	30	30	900	12	30	Draw of Lots	5	3
133	Within 5 Kms from NH 60 (Ardhagram College More) towards Ardhagram on Ardhagram Road	BANKURA	RURAL	70	OBC PH	DC	30	30	900	12	30	Draw of Lots	5	3
134	Within 10 kms of Madhukunda Railway Station towards Saltora on Saltora Madhukunda Road	BANKURA	RURAL	85	Open	DC	30	30	900	12	30	Draw of Lots	5	4
135	Within 3 kms of either side of Ghola More Bus Stop (Sabrakon) on Bishnupur Taldangra Road	BANKURA	RURAL	75	sc	CFS	30	30	900	0	0	Draw of Lots	0	2
136	From Dankuni More (Junction of NH-2 and Delhi Road) to Pardankuni on Left Hand Side on SH-13	HOOGHLY	REGULAR	190	OBC	СС	30	30	900	25	10	Bidding	30	4
137	Between KM Stone no 626 and 631 on NH-2 LHS while traveling from Kolkata towards Delhi	HOOGHLY	REGULAR	150	Open CC 1	DC	35	45	1575	25	75	Draw of Lots	15	5
138	Within 5 Kms from Sipaigachi primary school, Nilarpur towards Arambagh on SH 15	HOOGHLY	REGULAR	130	OBC	DC	30	30	900	25	60	Draw of Lots	15	4
139	Between Gourhati more and Mayapur gram panchayat office on SH-2	HOOGHLY	REGULAR	140	OBC	DC	30	30	900	25	60	Draw of Lots	15	4
140	Between Howrah/ Hooghly district border and Dankuni Chowmatha on NH 2 LHS while traveling from Kolkata to Durgapur	HOOGHLY	REGULAR	150	ОВС	СС	35	45	1575	25	10	Bidding	30	4
141	Between Singur More and Nashibpur more on SH2	HOOGHLY	REGULAR	150	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
142	Within Rishra municipalty limits on any Main Road (minimum 6 mtrs width)	HOOGHLY	REGULAR	160	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
143	Between KM Stone no 621 and 613 on NH2 LHS while traveling from Kolkata towards Delhi	HOOGHLY	REGULAR	150	sc	CFS	35	45	1575	0	0	Draw of Lots	0	3
144	Within 3 Kms from Mayapur Post Office towards Champadanga on SH-2	HOOGHLY	REGULAR	90	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
145	Within 8 Kms from Saroj Mohan Institte of Technology towards Tribeni on SH-6	HOOGHLY	REGULAR	100	OBC	DC	30	30	900	25	60	Draw of Lots	15	4
146	Between KM stone no 635 to 633 of NH-2 on LHS while traveling from Dankuni towards Delhi	HOOGHLY	REGULAR	230	Open	СС	35	45	1575	25	10	Bidding	30	5

		1 1		1	<u>г г</u>		1		1	1	1	1 1		
147	Between KM stone no 645 to 642 NH-2 on LHS while traveling from Dankuni towards Delhi	HOOGHLY	REGULAR	210	Open	СС	35	45	1575	25	10	Bidding	30	5
148	Between KM Stone No. 613 and 611 on NH-2 on LHS while traveling from Kolkata to Durgapur	HOOGHLY	REGULAR	190	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
149	From Bighati more to Swatpur more on SH-13 Left Hand Side	HOOGHLY	REGULAR	150	Open	CC	30	30	900	25	10	Bidding	30	5
150	Between Rishra 220KV sub station and serampore more on SH-13	HOOGHLY	REGULAR	150	Open	CC	30	30	900	25	10	Bidding	30	5
151	Within Baidyabati Municipalty limits on any Main Road (minimum 6 mtrs width)	HOOGHLY	REGULAR	150	Open	DC	20	20	400	25	60	Draw of Lots	15	5
152	Between Nalikul Railway Crossing and Lokenath Railway Crossing on SH-2	HOOGHLY	REGULAR	100	OBC	DC	30	30	900	25	60	Draw of Lots	15	4
153	Between Kamarpukur Choti More and Hooghly / Pashim Medinipur district Border on NH- 116 B (earlier SH 7)	HOOGHLY	REGULAR	160	Open	СС	35	35	1225	25	10	Bidding	30	5
154	Within 5 Kms from Kalachara Post office towards Arambagh on SH 15	HOOGHLY	REGULAR	130	Open	DC	30	30	900	25	60	Draw of Lots	15	5
155	Between Tarakeshwar Dham Entry Gate (on SH-2) and Gopinagar Bus Stop on SH-2	HOOGHLY	REGULAR	90	Open PH	DC	30	30	900	25	60	Draw of Lots	15	5
156	Within 6 Kms from Sheakhala Sub Post Office towards Dankuni on SH-15	HOOGHLY	REGULAR	150	OBC	DC	30	30	900	25	60	Draw of Lots	15	4
157	Within Bhadreswar municipality limits on any main Road (minimum 6 mtr width, not on SH)	HOOGHLY	REGULAR	100	Open CC 1	DC	25	25	625	25	45	Draw of Lots	15	5
158	Between Bidyabati Choumatha and Bighati more on SH 13	HOOGHLY	REGULAR	150	Open	DC	30	30	900	25	60	Draw of Lots	15	5
159	Within 4 Kms from Kesoram Rayon Bus Stand towards Kalna on SH-6	HOOGHLY	REGULAR	90	ST	CFS	30	30	900	0	0	Draw of Lots	0	3
160	On Mouza Jirat on SH 6	HOOGHLY	REGULAR	150	Open	DC	30	30	900	25	60	Draw of Lots	15	5
161	Within 5 Kms from Gourhati more towards Bandar on Arambagh - Bandar road	HOOGHLY	RURAL	70	OBC	DC	30	30	900	12	30	Draw of Lots	5	3
162	Within 6 Kms from khanakul police station towards Champadanga on Dirgui Ghat Khanakul Road	HOOGHLY	RURAL	70	SC	CFS	30	30	900	0	0	Draw of Lots	0	2
163	Within 3 kms of Gazar more on Haripal Jangipara Road towards Jangipara	HOOGHLY	RURAL	70	Open	DC	30	30	900	12	30	Draw of Lots	5	4
164	Within 5 Kms from Mayapur Bus stop towards Khanakul on Gargehat Road	HOOGHLY	RURAL	70	Open CC 1	DC	30	30	900	12	30	Draw of Lots	5	4
165	Between Dhaniakhali Police Station and Dasghara bus stop on Dhaniakhali Dasgara Road	HOOGHLY	RURAL	70	Open CC 1	DC	30	30	900	12	30	Draw of Lots	5	4
166	Between Kharikmathani bus stop and Gopiballabpur Police station on SH 9	JHARGRAM	REGULAR	90	Open	DC	30	30	900	25	60	Draw of Lots	15	5
167	Within 5 km (Either side) of Binpur WBSEDCL office on SH 5 connecting Binpur and Jhargram	JHARGRAM	REGULAR	80	Open	DC	30	30	900	25	60	Draw of Lots	15	5
168	Within 5 km (Either Side) of Dahijuri Sub Post office on SH 5	JHARGRAM	REGULAR	100	OBC	DC	30	30	900	25	60	Draw of Lots	15	4
169	Within Jhargram Municipal Limits on any main road (minimum 6 meter width, not on NH/SH)	JHARGRAM	REGULAR	100	SC	CFS	25	25	625	0	0	Draw of Lots	0	3
170	Between Chichra Kadamtola More Bus stop to Fekoghat bus stop on NH 60	JHARGRAM	REGULAR	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
171	Between Ramgarh Police Station to Kantapahari Bus station on Lalgarh Ramgarh Pinaboni Road	JHARGRAM	RURAL	70	SC	CFS	30	30	900	0	0	Draw of Lots	0	2
172	2 Kms From Lalgarh Thana towards Katapahari on Lalgarh-Ramgarh Road	JHARGRAM	RURAL	80	Open	DC	30	30	900	12	30	Draw of Lots	5	4
173	Within 4 KM from Andal More on NH-2 on LHS towards Asansol	PASCHIM BARDHAMAN	REGULAR	200	OBC	CC	35	45	1575	25	10	Bidding	30	4
174	Within 3 Kms from BNR More towards Barakar on Old GT Road	PASCHIM BARDHAMAN	REGULAR	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
175	FROM DARJELING MORE TO MUCHIPARA CROSSING ON NH-2, LHS WIHILE GOING TO DURGAPUR	PASCHIM BARDHAMAN	REGULAR	200	Open CC 1	СС	35	45	1575	25	10	Bidding	30	5
176	Within 3 Kms from Mithani High School towards Radhanagar on Mithani - Radhanagar Road	PASCHIM BARDHAMAN	REGULAR	80	Open	DC	20	20	400	25	60	Draw of Lots	15	5
177	Between Gandhi More & Mayabazar Railway Crossing	PASCHIM BARDHAMAN	REGULAR	105	SC CC 1	CFS	20	20	400	0	0	Draw of Lots	0	3
178	WITHIN 5 KM FROM PUNJABI MORE ON NH-2 TOWARDS Durgapur on LHS while going towards Kolkata	PASCHIM BARDHAMAN	REGULAR	230	Open	CC	35	45	1575	25	10	Bidding	30	5
179	Within 5 KM from DSP main gate Bus Stand (NH-2 Junction) on Bidhan Sarani towards Benachitty	PASCHIM BARDHAMAN	REGULAR	170	Open	CC	20	20	400	25	10	Bidding	30	5
180	WITHIN 10 KM FROM PUNJABI MORE ON NH-60 TOWARDS HARIPUR	PASCHIM BARDHAMAN	REGULAR	170	Open	DC	35	35	1225	25	75	Draw of Lots	15	5
181	Within 6 Kms from Neymatpur New Road Bus Stand towards Barkar on Old GT Road	PASCHIM BARDHAMAN	REGULAR	150	Open CC 1	DC	20	20	400	25	60	Draw of Lots	15	5
182	ON ANDAL-UKHRA ROAD WITHIN 6 KMS FROM ANDAL MORE	PASCHIM BARDHAMAN	REGULAR	100	OBC	DC	25	25	625	25	45	Draw of Lots	15	4
183	WITHIN 10 KMS FROM ANDAL MORE TOWARDS DURGAPUR ON NH-2(LHS)	PASCHIM BARDHAMAN	REGULAR	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
184	Within 2 KM from Panch Matha More, A-Zone, Durgapur on any Main Road with minimum 6 mtrs width	PASCHIM BARDHAMAN	REGULAR	150	Open	СС	20	20	400	25	10	Bidding	30	5
185	Between Steel Park More and Bhagat Singh More, Durgapur on any side	PASCHIM BARDHAMAN	REGULAR	150	OBC	CC	20	20	400	25	10	Bidding	30	4
186	Between Arrah More and SteelPark More, Durgapur on (WBSETCL Substation Road,	PASCHIM BARDHAMAN	REGULAR	140	Open CC 1	DC	20	20	400	25	60	Draw of Lots	15	5

407														
187	Between Muchipara NH-2 Crossing and Railway over bridge on SH-9.	PASCHIM BARDHAMAN	REGULAR	105	OBC	DC	30	30	900	25	60	Draw of Lots	15	4
188	Between Jharkhand/West Bengal Border to Chanda More on LHS while going to Durgapur on NH-2	PASCHIM BARDHAMAN	REGULAR	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
189	Within 3 Kms from Chanda More Bus Stoptowards Durgapur on LHS while going towards Durgapur on NH-2	PASCHIM BARDHAMAN	REGULAR	170	Open	СС	35	45	1575	25	10	Bidding	30	5
190	Within 5 KM from Ajoy River crossing towards Haripur on NH -60	PASCHIM BARDHAMAN	REGULAR	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
191	Between Jharkhand/West Bengal Border to Punjabi More on RHS while going towards Durgapur on NH-2	PASCHIM BARDHAMAN	REGULAR	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
192	Between Railway Overbridge and Durgapur Barage on SH-9	PASCHIM BARDHAMAN	REGULAR	110	OBC	DC	30	30	900	25	60	Draw of Lots	15	4
193	Within 5 Kms from Rani Sayer More Bus Stop on NH 2 towards Jamuria on Rani Sayer - Jamuria Road	PASCHIM BARDHAMAN	REGULAR	100	OBC	DC	25	25	625	25	45	Draw of Lots	15	4
194	Within 10 KM from Illambazaar Ajay river Bridge towards Darjeeling More on SH-14	PASCHIM BARDHAMAN	REGULAR	115	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
195	From Punjabi More to Mejia Bridge (on Damodar River) on NH-60	PASCHIM BARDHAMAN	REGULAR	100	SC	CFS	25	25	625	0	0	Draw of Lots	0	3
196	Within 2 kms of Barakar More towards Dishergarh ghat on Dishergarh Maithan Road	PASCHIM BARDHAMAN	REGULAR	150	Open	DC	20	20	400	25	60	Draw of Lots	15	5
197	Within 3 Kms from Runakuria Ghat Bridge towards Asansol on Nadi Ghat Road	PASCHIM BARDHAMAN	RURAL	80	Open	DC	30	30	900	12	30	Draw of Lots	5	4
198	Within 5 Kms From Chakdola More Bus Stop towards Jamuria on Jamuria Road	PASCHIM BARDHAMAN	RURAL	100	Open	DC	30	30	900	12	30	Draw of Lots	5	4
199	Within 4 KMs (Either Side) of Nehru Park Roundabout on Riverside Road	PASCHIM BARDHAMAN	RURAL	70	OBC	DC	30	30	900	12	30	Draw of Lots	5	3
200	Within 5km from Malandighi (Akhandra Road Junction) towards Ajoy River on Durgapur- Bamunara-Shibpur-Joydev Road	PASCHIM BARDHAMAN	RURAL	70	Open	DC	30	30	900	12	30	Draw of Lots	5	4
201	Within 3 Kms (Either Side) of Ichapur Primary Health Care Centre (PHC) on Ichapur Sorpi Main Road	PASCHIM BARDHAMAN	RURAL	70	Open	DC	30	30	900	12	30	Draw of Lots	5	4
202	Between Khandra College and Shankarpur More on Ukhra Andal Road	PASCHIM BARDHAMAN	RURAL	90	Open	DC	30	30	900	12	30	Draw of Lots	5	4
203	Within 5 Kms of Nachan Bus Stand towards Raghunathpur on Kamalpur Road	PASCHIM BARDHAMAN	RURAL	70	Open	DC	30	30	900	12	30	Draw of Lots	5	4
204	Between Khukurdaha bus stop and Goilkhali bus stop on SH4	PASCHIM MEDINIPUR	REGULAR	90	SC CC 1	CFS	30	30	900	0	0	Draw of Lots	0	3
205	Between Beltala Bus Stop to Pirtala Bus Stop on NH-116B	PASCHIM MEDINIPUR	REGULAR	150	Open PH	DC	35	35	1225	25	75	Draw of Lots	15	5
206	From Kharika bus stand to Muktichak bus stand on SH 7	PASCHIM MEDINIPUR	REGULAR	110	Open	CC	30	30	900	25	10	Bidding	30	5
207	Between KM stone 2 to KM stone 9 between Chandrakona Road to Chandrakona Town on SH 4	PASCHIM MEDINIPUR	REGULAR	90	Open	DC	30	30	900	25	60	Draw of Lots	15	5
208	Between KM Stone 126 to KM Stone 130 on LHS of Debra to Kharagpur	PASCHIM MEDINIPUR	REGULAR	180	Open	CC	35	45	1575	25	10	Bidding	30	5
209	Between New Biscuit Factory to Kharida Rail Gate in Malancha Main Road, Kharagpur Town	PASCHIM MEDINIPUR	REGULAR	160	Open	СС	20	20	400	25	10	Bidding	30	5
210	Within 10 KM from Orissa/West Bengal Border towards Belda on NH 60 on LHS while going to Belda	PASCHIM MEDINIPUR	REGULAR	210	Open	СС	35	45	1575	25	10	Bidding	30	5
211	Between Puratan Bazar More to Kaushalya More on Puratan Bazar Road	PASCHIM MEDINIPUR	REGULAR	150	Open	CC	18	24	432	25	10	Bidding	30	5
212	BETWEEN KHARAGPUR CHOWRANGEE & DHARMA MORE ON NH 60	PASCHIM MEDINIPUR	REGULAR	170	OBC	DC	35	35	1225	25	75	Draw of Lots	15	4
213	BETWEEN NIKSURINI Bus Stand & DANTON BUS Stand ON NH 60	PASCHIM MEDINIPUR	REGULAR	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
214	From WBSEDCL substation, near Belda to Bhabanipur road intersection near Dantan on NH 60	PASCHIM MEDINIPUR	REGULAR	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
215	Between Salboni bus stop and Chandrakona Road bus stop on NH 60	PASCHIM MEDINIPUR	REGULAR	150	Open	DC	35	35	1225	25	75	Draw of Lots	15	5
216	Within 5 Kms (Either Side) of Khirpai Rural Hospital on NH-116B (earlier SH-7)	PASCHIM MEDINIPUR	REGULAR	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
217	Between Ratulia Post Office to Debra Bazar Sub Post Office on NH 6 on LHS while going from Kolaghat to Kharagpur	PASCHIM MEDINIPUR	REGULAR	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
218	From WBSEDCL Sub Station near Belda to Makrampur Hospital on NH 60	PASCHIM MEDINIPUR	REGULAR	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
219	Between Beliaghata Bus Stop to Ghatal old Bus Stop on NH-116 B	PASCHIM MEDINIPUR	REGULAR	150	ST PH	CFS	35	35	1225	0	0	Draw of Lots	0	3
220	Between Salua Post office to Tentulmari Bus station on SH 5	PASCHIM MEDINIPUR	REGULAR	100	OBC PH	DC	30	30	900	25	60	Draw of Lots	15	4
221	Between Ghatal BDO office to Jalshara High School Mahanpur on NH-116 B (earlier SH-7)	PASCHIM MEDINIPUR	REGULAR	150	Open CC 1	DC	35	35	1225	25	75	Draw of Lots	15	5
222	Between Chandrakona Chowk to Kiaboni Post office on NH 60	PASCHIM MEDINIPUR	REGULAR	150	OBC	DC	35	35	1225	25	75	Draw of Lots	15	4
223	Between Bhadutala bus stop and Sundara Bus stop on NH 60	PASCHIM MEDINIPUR	REGULAR	200	Open	CC	35	35	1225	25	10	Bidding	30	5
224	Between Chowrangee Kharagpur to Debra Toll Plaza on NH 6 on LHS while going towards Kolkata	PASCHIM MEDINIPUR	REGULAR	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
225	Between Junction of Gopiganj Sultan Nagar Road with NH-116B to Sonamui Bus stop on NH- 116B	PASCHIM MEDINIPUR	REGULAR	150	OBC	DC	35	35	1225	25	75	Draw of Lots	15	4
226	Within 2 Kms (either Side) of UAL Bengal factory on Guptamoni Kultikiri Road	PASCHIM MEDINIPUR	RURAL	70	SC	CFS	30	30	900	0	0	Draw of Lots	0	2
227	Keshpur Police station to Godapaisal Charubala Balika Vidyalaya on Medinipur Lane Road	PASCHIM MEDINIPUR	RURAL	70	SC	CFS	30	30	900	0	0	Draw of Lots	0	2

228	From JSW Cement Factory Gate to NH-60 Junction on Industrial Park Road	PASCHIM MEDINIPUR	RURAL	70	SC CC 1	CFS	30	30	900	0	0	Draw of Lots	0	2
229	Within 7 KM of Benapur High School from Benapur towards Narayangarh on Kharagpur Main													
	Rd	PASCHIM MEDINIPUR	RURAL	70	Open	DC	30	30	900	12	30	Draw of Lots	5	4
230	5 Kms from Bankura Border towards Khandaghosh on SH-8	PURBA BARDHAMAN	REGULAR	75	OBC CC 1	DC	30	30	900	25	60	Draw of Lots	15	4
231	Within 5 KM from Kusumgram Bus Stand towards Satgachia More on Kusumgram-Memari Road (SH-15)	PURBA BARDHAMAN	REGULAR	100	Open	DC	30	30	900	25	60	Draw of Lots	15	5
232	BETWEEN KM STONE 565 TO 575 FROM BURDWAN TO KOLKATA ON NH-2(LHS)	PURBA BARDHAMAN	REGULAR	170	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
233	BETWEEN KM STONE 522 TO 535 FROM DURGAPUR TO KOLKATA ON NH-2(LHS)	PURBA BARDHAMAN	REGULAR	170	Open	CC	35	45	1575	25	10	Bidding	30	5
234	BETWEEN MEMARI TRAFFIC MORE AND NH-2 CROSSING TOWARDS JAMALPUR ON MEMARI TARAKESWAR ROAD (SH-15)	PURBA BARDHAMAN	REGULAR	100	Open CC 2	DC	30	30	900	25	60	Draw of Lots	15	5
235	Within 20 KM from Nawabhat More on NH-2B towards Guskhara	PURBA BARDHAMAN	REGULAR	150	Open	CC	35	45	1575	25	10	Bidding	30	5
236	Between Mankar Girls High School and Dignagar Girls School on Mankar-Guskara Road (SH- 14) any Side	PURBA BARDHAMAN	REGULAR	75	Open	DC	30	30	900	25	60	Draw of Lots	15	5
237	Within 3 kms (Either Side) of KaleKhatala Bazar on SH-6	PURBA BARDHAMAN	REGULAR	100	OBC	DC	30	30	900	25	60	Draw of Lots	15	4
238	Within 5 KM from Guskhara School More towards Bolpur on NH-2B	PURBA BARDHAMAN	REGULAR	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
239	Within 10 Kms of Nutanhat Bridge on NH-116B (earlier SH-7) towards Muratipur	PURBA BARDHAMAN	REGULAR	150	OBC	DC	35	35	1225	25	75	Draw of Lots	15	4
240	ON PANAGARH BYPASS (NH-2) LHS FROM DUGAPUR TO KOLKATA	PURBA BARDHAMAN	REGULAR	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
241	BETWEEN KM STONE 535 TO 565 FROM DURGAPUR TO KOLKATA ON NH-2(LHS)	PURBA BARDHAMAN	REGULAR	200	Open	CC	35	45	1575	25	10	Bidding	30	5
242	BETWEEN KAMNARA STATION MORE AND NORJA MORE ON BURDWAN-KATWA ROAD	PURBA BARDHAMAN	REGULAR	150	Open	DC	35	35	1225	25	75	Draw of Lots	15	5
243	Between Norja More and Muratipur More on Kshetia-Nutanhat Road on NH-116B (earlier SH- 7).	PURBA BARDHAMAN	REGULAR	150	OBC	DC	35	35	1225	25	75	Draw of Lots	15	4
244	Within 5 Kms of Gopikhanj More towards Samudragarh on SH-6	PURBA BARDHAMAN	REGULAR	120	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
245	Within Gushkara Municipal Limits On any main Road (Minimum 6 mtrs wide Road) not on NH/SH	PURBA BARDHAMAN	REGULAR	80	SC	CFS	25	25	625	0	0	Draw of Lots	0	3
246	BETWEEN DHATRIGRAM MORE & SAMUDARGARH MORE ON SH-6	PURBA BARDHAMAN	REGULAR	100	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
247	Within Kalna Municipal Limits On any main Road (Minimum 6 mtrs wide Road) Not on SH	PURBA BARDHAMAN	REGULAR	80	SC	CFS	25	25	625	0	0	Draw of Lots	0	3
248	Within Katwa Municipal Limits On any main Road (Minimum 6 mtrs wide Road) Not on SH	PURBA BARDHAMAN	REGULAR	80	OBC	DC	25	25	625	25	45	Draw of Lots	15	4
249	Between Balgona Bus Stand to Koichar Police Station on SH-14	PURBA BARDHAMAN	REGULAR	100	SC CC 1	CFS	30	30	900	0	0	Draw of Lots	0	3
250	Between Balgona More Bus Stand (near Guskhara) to Muratipur Bus Stand on SH-14	PURBA BARDHAMAN	REGULAR	80	OBC CC 1	DC	30	30	900	25	60	Draw of Lots	15	4
251	Within Seherabazar to Uchalan on Burdwan Arambagh Road NH-116B (earlier SH-7)	PURBA BARDHAMAN	REGULAR	150	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
252	Between Bengal Institute of Technology, Katwa and Ketugram Bus Stand on SH-6 (Katwa- Ketugram Road)	PURBA BARDHAMAN	REGULAR	100	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
253	WITHIN 5 KM FROM GUSHKARA SCHOOL MORE TOWARDS BURDWAN ON NH-2B	PURBA BARDHAMAN	REGULAR	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
254	Between Maldanga & Bhatar on Maldanga Road (Not on SH)	PURBA BARDHAMAN	RURAL	70	Open CC 1	DC	30	30	900	12	30	Draw of Lots	5	4
255	Vill- Ghustia, Block-Raina-II	PURBA BARDHAMAN	RURAL	70	Open	DC	30	30	900	12	30	Draw of Lots	5	4
256	Within 5 KM from Raina Bus stand towrads Bataspur on Kabikankan Road	PURBA BARDHAMAN	RURAL	70	SC PH	CFS	30	30	900	0	0	Draw of Lots	0	2
257	Within 3 KM from Kalna gate Railway Crossing towards Kalna on Burdwan Kalna Road	PURBA BARDHAMAN	RURAL	70	Open	DC	30	30	900	12	30	Draw of Lots	5	4
258	Village - Paratal, Block - Jamalpur	PURBA BARDHAMAN	RURAL	70	ST	CFS	30	30	900	0	0	Draw of Lots	0	2
259	Within 8 KM from Dignagar More (Near Kusumgram Bus Stand) towards Sonadanga	PURBA BARDHAMAN	RURAL	70	OBC	DC	30	30	900	12	30	Draw of Lots	5	3
260	Village Belkash, Block Burdwan I	PURBA BARDHAMAN	RURAL	70	SC	CFS	30	30	900	0	0	Draw of Lots	0	2
261	Between Nandigram (Singi More) & Khar Dattapara on Koichar-Kalna Road	PURBA BARDHAMAN	RURAL	70	OBC	DC	30	30	900	12	30	Draw of Lots	5	3
262	Within 5 kms from Karalaghat Bridge towards Raina on Raina - Karalaghat Road	PURBA BARDHAMAN	RURAL	70	SC	CFS	30	30	900	0	0	Draw of Lots	0	2
263	Within 20 km from Burdwan railway Over Bridge towards Kalna on Burdwan - Kalna Road	PURBA BARDHAMAN	RURAL	70	OBC	DC	30	30	900	12	30	Draw of Lots	5	3
264	Between Guskhora (Junction of SH-14 and Ausgram Road) and 11 mile on Guskhora- Ausgram Road	PURBA BARDHAMAN	RURAL	75	OBC	DC	30	30	900	12	30	Draw of Lots	5	3
265	Between KM Stone 21 to KM Stone 25 on NH-41 on LHS of Nandkumar to Kolaghat	PURBA MEDINIPUR	REGULAR	170	Open	СС	35	45	1575	25	10	Bidding	30	5
266	Within 5 KM (Either Side) of Mahisagote Post Office on NH 116 B	PURBA MEDINIPUR	REGULAR	180	Open	CC	35	45	1575	25	10	Bidding	30	5
267	From Alankarpur Bus Stop Jagadishpur Bus Stop on NH-116 B	PURBA MEDINIPUR	REGULAR	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3

200			, i		, ,		1					, , , , , , , , , , , , , , , , , , ,		1
268	Between Brajlalchak and Nandkumar Bus Stand on LHS going towards Nandkumar on NH 41	PURBA MEDINIPUR	REGULAR	180	Open	CC	35	45	1575	25	10	Bidding	30	5
269	From the Junction of Egra Bajkul Road and NH-116B to Chandipur BDO Officer on NH 116 B	PURBA MEDINIPUR	REGULAR	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
270	From Brajlalchak to Bhawanipore Police Station on NH 41 on RHS while going towards Bhawanipore Police Station	PURBA MEDINIPUR	REGULAR	210	Open	CC	35	45	1575	25	10	Bidding	30	5
271	Between KM Stone 25 to KM Stone 35 on NH-41 on LHS of Nandkumar to Kolaghat	PURBA MEDINIPUR	REGULAR	200	Open	CC	35	45	1575	25	10	Bidding	30	5
272	Within Contai Municipality limit on any main road (minimum 6 meter width, Not on NH/SH)	PURBA MEDINIPUR	REGULAR	100	Open	DC	25	25	625	25	45	Draw of Lots	15	5
273	BETWEEN ALANKARPUR BUS STOP AND BALISAI SUB POST OFFICE on NH-116B	PURBA MEDINIPUR	REGULAR	150	OBC	CC	35	45	1575	25	10	Bidding	30	4
274	BETWEEN CHOULKHOLA SUB POST OFFICE AND BALISAI SUB POST OFFICE ON NH 116B	PURBA MEDINIPUR	REGULAR	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
275	From Durgachak Police Station to IPPL Bottling Plant on city centre Industrial Area Road	PURBA MEDINIPUR	REGULAR	100	OBC	DC	25	25	625	25	45	Draw of Lots	15	4
276	From Amravati Park to Digha By Pass Bus Stand on Digha Bypass Road	PURBA MEDINIPUR	REGULAR	100	OBC	DC	25	25	625	25	45	Draw of Lots	15	4
277	From Amravati Park to Digha Welcome Gate on NH-116 B	PURBA MEDINIPUR	REGULAR	170	SC	CFS	25	25	625	0	0	Draw of Lots	0	3
278	Between Nandkumar Bus Stand and Narghat Bridge on NH 116 B	PURBA MEDINIPUR	REGULAR	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
279	Within 5 Km of Haldia Township on any main road (minimum 6 meter width, not on NH/SH)	PURBA MEDINIPUR	REGULAR	100	OBC	DC	25	25	625	25	45	Draw of Lots	15	4
280	within Tamluk Municipality on any main road (minimum 6 meter width, not on NH/SH)	PURBA MEDINIPUR	REGULAR	100	OBC	DC	25	25	625	25	45	Draw of Lots	15	4
281	From Narghat Bridge to Contai Bus Stand on NH-116 B	PURBA MEDINIPUR	REGULAR	180	Open	CC	35	45	1575	25	10	Bidding	30	5
	Between Junction of NH-6 and NH-116 B (near Mechogram) to Kolaghat Bridge (on Rupnarayan River) on NH-6	PURBA MEDINIPUR	REGULAR	200	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
283	Between Bolaipanda bus stop and Annapurna Fish Market on Dakbungalow Moyna Road	PURBA MEDINIPUR	RURAL	70	OBC	DC	30	30	900	12	30	Draw of Lots	5	3
284	BETWEEN ITABERIA BUS STOP & MUGBERIA POST OFFICE ON LALAT JANAKA ROAD	PURBA MEDINIPUR	RURAL	70	OBC	DC	30	30	900	12	30	Draw of Lots	5	3
285	Between Dhekua bus stop and Kukrahati bus stop on Kukrahati Haldia Road	PURBA MEDINIPUR	RURAL	70	OBC	DC	30	30	900	12	30	Draw of Lots	5	3
286	Between Manglamaro Bus stand to Bibhisanpur High School on Egra Bajkul Road	PURBA MEDINIPUR	RURAL	70	Open	DC	30	30	900	12	30	Draw of Lots	5	4
287	Within 2 Kms of Bhaganpur Bus Stand towards Pajankul on Egra Bajkul Road	PURBA MEDINIPUR	RURAL	70	OBC	DC	30	30	900	12	30	Draw of Lots	5	3
288	BETWEEN MADHYAHINGLI POST OFFICE & MAHISHADAL BUS STOP ON TEROPEKHYA ROAD	PURBA MEDINIPUR	RURAL	70	Open	DC	30	30	900	12	30	Draw of Lots	5	4
	BETWEEN PETUA MORE BUS STOP AND DESHAPRAN FISHING HARBOUR ON PETUAGHAT ROAD	PURBA MEDINIPUR	RURAL	80	Open	DC	30	30	900	12	30	Draw of Lots	5	4
290	Between Basantia sub post office and Mirzapur High School on Contai Rasulpur Road	PURBA MEDINIPUR	RURAL	70	OBC	DC	30	30	900	12	30	Draw of Lots	5	3
291	Between Kalaberia Post office to Bhagbanpur Bus stop on Egra Bajkul Road	PURBA MEDINIPUR	RURAL	70	Open	DC	30	30	900	12	30	Draw of Lots	5	4
	Between Barbasudebpur Attayik Primary School and Chaitanyapur bus stop on Chaitanyapur Kukrahati Road	PURBA MEDINIPUR	RURAL	70	Open	DC	30	30	900	12	30	Draw of Lots	5	4
293	Between Kharuigarh Post Office and Panchet More ON EGRA PATASHPUR ROAD	PURBA MEDINIPUR	RURAL	70	OBC CC 1	DC	30	30	900	12	30	Draw of Lots	5	3
294	RAMNAGAR RAIL CROSSING TO RAMNAGAR COLLEGE ON EGRA-RAMNAGAR ROAD .	PURBA MEDINIPUR	RURAL	70	Open PH	DC	30	30	900	12	30	Draw of Lots	5	4
	Within 2 Kms of Jukhia K.N. Banimandir High School towards Henria on Henria Madhakali Road	PURBA MEDINIPUR	RURAL	70	Open	DC	30	30	900	12	30	Draw of Lots	5	4
296	WITHIN 5 KM (Either Side) FROM MOHANPUR BUS STOP ON MOHANPUR KHAKURDA ROAD	PURBA MEDINIPUR	RURAL	70	Open	DC	30	30	900	12	30	Draw of Lots	5	4
	Within 3 Kms of Chelyama Yatrik Pratikhalaya (Bus Stand) towards Raghunathpur on Chelyama Mangalda Road (SH-8)	PURULIA	REGULAR	80	Open	DC	30	30	900	25	60	Draw of Lots	15	5
	Within 10 Kms of Tamna More towards Balarampur on NH-32	PURULIA	REGULAR	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
299	Between West Bengal -Jharkhand Border to Balrampur Chowk on NH-32	PURULIA	REGULAR	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
300	Mouza Palma, near Anara on SH 5	PURULIA	REGULAR	90	Open	DC	30	30	900	25	60	Draw of Lots	15	5
301	Within 4 Kms of RBB High School, Garh Jaypur towards Chas More on SH-4A	PURULIA	REGULAR	80	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
302	Within 5 KMs on either side of Kenda Police Station on SH-5	PURULIA	REGULAR	120	Open	DC	30	30	900	25	60	Draw of Lots	15	5
303	Purulia within Municipal Limits on any main Road (Min 6 Mtrs width)	PURULIA	REGULAR	180	Open	CC	25	25	625	25	10	Bidding	30	5
304	Within 4 Kms of either side of Dubra More on Chandankiari Dubra Raghunathpur Road	PURULIA	REGULAR	80	Open	DC	25	25	625	25	45	Draw of Lots	15	5
	Within 20 Kms of Kulgara More towards Bankura on NH -60 A	PURULIA	REGULAR	150	Open	DC	35	35	1225	25	75	Draw of Lots	15	5
306	Banduan (on Bus Stand Road)	PURULIA	REGULAR	70	Open	DC	25	25	625	25	45	Draw of Lots	15	5

307			DECULAD	00	0.00		20	20	000	25	60	Duran of Late	45	
307 1	Within 3 KMs of Railway Crossing near Anara towards Purulia on SH-5	PURULIA	REGULAR	90	OBC	DC	30	30	900	25	60	Draw of Lots	15	4
	Within Jhalda Municipality Limits on any main Road (Min 6 Mtrs width, Not on NH/SH)	PURULIA	REGULAR	150	OBC	DC	25	25	625	25	45	Draw of Lots	15	4
309 V	Within 2 Kms (either side) of Joychandi Pahar Rail Gate on Raghunathpur Adra Road	PURULIA	RURAL	75	ST	CFS	30	30	900	0	0	Draw of Lots	0	2
310 \	Within 5 KMs of Sarbari More towards Panchet on Sarbari Panchet Road	PURULIA	RURAL	85	SC	CFS	30	30	900	0	0	Draw of Lots	0	2
311	Within 5 kms (either side) of Puncha Police Station on Puncha Pairachali Road	PURULIA	RURAL	70	ST	CFS	30	30	900	0	0	Draw of Lots	0	2
-	Within 4 Kms of Junction of NH-32 and Purulia - Chandankiyari Road, towards Chandankiyari on Purulia to Chandankiyari Road	PURULIA	RURAL	85	Open	DC	30	30	900	12	30	Draw of Lots	5	4
³¹³ V	Within 2 kms (Either Side) of Ghongha High School on Purulia Chandankiyari Road	PURULIA	RURAL	80	Open	DC	30	30	900	12	30	Draw of Lots	5	4
314	Within 1 Km (Either side) of Chharra FCI Godown on Gurguria Chharra Air Base Road	PURULIA	RURAL	100	Open	DC	30	30	900	12	30	Draw of Lots	5	4
315 V	Within 3 Kms (Either side) of Para Police Station on Jhapra more - Dubra More Road	PURULIA	RURAL	75	Open	DC	30	30	900	12	30	Draw of Lots	5	4
316 E	Between Changpara and Salsalabari bazar on NH27 (new)	ALIPURDUAR	REGULAR	150	ST	CFS	35	45	1575	0	0	Draw of lots	0	3
317 E	Between Salbari and Bagribari Balasundar on NH31D (old)/ NH27 (new)	ALIPURDUAR	REGULAR	200	Open	DC	35	45	1575	25	75	Draw of lots	15	5
318 A	Alipuruduar Town (Within Municipal limit but not on Highway)	ALIPURDUAR	REGULAR	120	ST	CFS	26	20	520	0	0	Draw of lots	0	3
319 E	Between Bhutanirghat and Falakata on NH27 (new)	ALIPURDUAR	REGULAR	150	Open PH	DC	35	45	1575	25	75	Draw of lots	15	5
320 V	Within 5 KM from Madarihat towards Falakata on Madarihat-Falakata SH	ALIPURDUAR	REGULAR	100	Open	DC	30	30	900	25	60	Draw of lots	15	5
		ALIPURDUAR	REGULAR	150	Open	DC	35	45	1575	25	75	Draw of lots	15	5
	Between Falakata and Betali Bhandari on NH31 (old)	ALIPURDUAR	REGULAR	150	SC	CFS	35	45	1575	0	0	Draw of lots	0	3
323 (Chakchoka to Guabari Toll Palza	ALIPURDUAR	REGULAR	150	Open	DC	35	45	1575	25	75	Draw of lots	15	5
324 E	Between Dakshin Nararthali More and Salsalabari on NH31C (old)/ NH27 (new)	ALIPURDUAR	REGULAR	150	Open	DC	35	45	1575	25	75	Draw of lots	15	5
325 E	Between Madarihat and Hasimara on NH31C (old)/ NH317 (new)	ALIPURDUAR	REGULAR	150	Open	DC	35	45	1575	25	75	Draw of lots	15	5
326 k	Khagenhat to Hari More on Dhupguri Jateswar Road	ALIPURDUAR	RURAL	100	SC	CFS	30	30	900	0	0	Draw of lots	0	2
	Samuktala Bazar (within 1.5 km of Samuktala Primary Health Centre)	ALIPURDUAR	RURAL	100	SC	CFS	30	30	900	0	0	Draw of lots	0	2
328 F	Falakata town (Within 5 km of Falakata Station but not on Highway)	ALIPURDUAR	RURAL	100	SC CC 1	CFS	30	30	900	0	0	Draw of lots	0	2
329 E	Barobisha (Within 4 km of Srirampur Border but not on NH)	ALIPURDUAR	RURAL	100	Open CC 2	DC	30	30	900	12	30	Draw of lots	5	4
	ON RAMPURHAT DUMKA HIGHWAY NH 114A WITHIN 2 KM FROM RAMKRISHNA SIKHAPITH SUB POST OFFICE	BIRBHUM	REGULAR	150	Open	DC	35	35	1225	25	75	Draw of lots	15	5
		BIRBHUM	REGULAR	150	Open	DC	35	35	1225	25	75	Draw of lots	15	5
	On NH60 between Panchra-Khyrasole Road intersection(with NH 60) to Churor Road Intersection with NH60	BIRBHUM	REGULAR	150	ОВС	DC	35	35	1225	25	75	Draw of lots	15	4
		BIRBHUM	REGULAR	110	OPEN CC 1	DC	30	30	900	25	60	Draw of lots	15	5
334 (On NH 60 between UCO bank Lohapur Branch to Tilora Bus stand	BIRBHUM	REGULAR	150	Open	DC	35	35	1225	25	75	Draw of lots	15	5
335 (On NH 60 between Maladanga SB High school to UCO bank Mohammad Bazar Branch	BIRBHUM	REGULAR	150	Open	DC	35	35	1225	25	75	Draw of lots	15	5
336 (On NH 60 between Nakpur checkpost to Tilora Bus stand	BIRBHUM	REGULAR	150	Open	DC	35	35	1225	25	75	Draw of lots	15	5
337 F	RAIPUR VILLAGE ON NH 60 WITHIN 2 KM FROM RAIPUR POST OFFICE	BIRBHUM	REGULAR	150	Open	CC	35	35	1225	25	10	Bidding	30	5
338 (On SH14 near Hetampur within 2 km from Niramoy Hospital	BIRBHUM	REGULAR	100	Open	DC	30	30	900	25	60	Draw of lots	15	5
339 \	Within Bolpur Municipal Limits(Not on NH/SH)	BIRBHUM	REGULAR	110	OBC	DC	26	20	520	25	45	Draw of lots	15	4
340 (On Amar Ahmadpur Road within 2 KM from Kopai Bus stop near Bolpur	BIRBHUM	REGULAR	110	SC	CFS	30	30	900	0	0	Draw of lots	0	3
341 \	Within Suri Municipal Limits(Not on NH/SH)	BIRBHUM	REGULAR	110	OBC	DC	26	20	520	25	45	Draw of lots	15	4
342 0	ON NALHATI PAKURIA ROAD WITHIN 3 KM FROM, MARUTI COLD STORAGE TOWARDS	BIRBHUM	REGULAR	110	Open	DC	26	20	520	25	45	Draw of lots	15	5
		BIRBHUM	REGULAR	100	OBC	DC	30	30	900	25	60	Draw of lots	15	4
344 (ON SH 6 RAMJIBAN ROAD WITHIN 3 KM FROM LODDHA MORE	BIRBHUM	REGULAR	150	Open	DC	30	30	900	25	60	Draw of lots	15	5
345 (ON SH 11 WITHIN 4 KM FROM KOTASUR POST OFFICE TOWARDS BERHAMPORE	BIRBHUM	REGULAR	100	Open	DC	30	30	900	25	60	Draw of lots	15	5
		BIRBHUM	REGULAR	110	SC	CFS	26	20	520	0	0	Draw of lots	0	3
340 I\		BIRBHUM	REGULAR	110	OBC	DC	26	20	520	25	45	Draw of lots	15	4
	Within Sainthia Municipal Limits (Not on NH/SH)									-	-		-	1
347 \		BIRBHUM		110	ST PH	CFS	26	20	520	0	0	Draw of lots	0	3
347 V 348 V	Within Dubrajpur Municipal Limits (Not on NH/SH)		REGULAR	110 150	ST PH OBC	CFS DC	26 35	20 35	520 1225	0 25	0 75	Draw of lots Draw of lots	0	3

			1		1	1					1			1
351	On NH 60 between Rampurhat Health District Hospital to Tejhati-Mehagram Road Intersection	BIRBHUM	REGULAR	150	OBC	DC	35	35	1225	25	75	Draw of lots	15	4
352	On NH 60 between Kalitha High School Ground to Uco Bank Koytha Branch	BIRBHUM	REGULAR	150	OBC	DC	35	35	1225	25	75	Draw of lots	15	4
353	On NH 60 between Bank of India Mallarpur Branch to Mallarpur 33KV sub station	BIRBHUM	REGULAR	150	Open	DC	35	35	1225	25	75	Draw of lots	15	5
354	On Bahadurpur to Kadasir Road towards Kadasir vilage within 2 KM from Hanuman Mandir	BIRBHUM	RURAL	90	Open	DC	30	30	900	12	30	Draw of lots	5	4
355	On Labhpur to Bolpur Road within 2 KM from MSK High School , Amdahara	BIRBHUM	RURAL	90	Open	DC	30	30	900	12	30	Draw of lots	5	4
356	On Chatra Khanpur Road Harirampur Village within 2 KM from Chatra post office towards Sundar Pahari	BIRBHUM	RURAL	100	ST	CFS	30	30	900	0	0	Draw of lots	0	2
357	SURI - SAINTHIA ROAD NEAR CHAUTARA VILLAGE WITHIN 2 KM FROM BLLRO OFFICE	BIRBHUM	RURAL	90	Open	сс	30	30	900	12	5	Bidding	10	4
358	On MOLLARPUR TO SHALBADRA ROAD WITHIN 2 KM FROM SALBHADRA MINES ASSOCIATION OFFICE	BIRBHUM	RURAL	90	Open	DC	30	30	900	12	30	Draw of lots	5	4
359	BOLPUR TO MULUK ROAD WITHIN 1 KM FROM MULUK BUS STAND	BIRBHUM	RURAL	70	Open	CC	30	30	900	12	5	Bidding	10	4
360	WITHIN 4 KMS OF KOTASUR BUS STAND ON TARAPITH ROAD	BIRBHUM	RURAL	80	SC	CFS	30	30	900	0	0	Draw of lots	0	2
361	From Mekhliganj BDO Office to Changrabandha on SH16 on RHS while travelling from Maynaguri to Changrabandha	COOCH BEHAR	REGULAR	110	ST	CFS	30	30	900	0	0	Draw of lots	0	3
362	ASSAM BENGAL BORDER TO MARUGANJ (HS) HIGH SCHOOL ON NH31 (ON LHS FROM COOCH BEHAR TO BOXIRHAT)	COOCH BEHAR	REGULAR	150	SC	CFS	35	45	1575	0	0	Draw of lots	0	3
363	GHUGUMARIMORE TO BAGMARA ON COOCH BEHAR MATHABANGA ROAD	COOCH BEHAR	REGULAR	110	Open	DC	30	30	900	25	60	Draw of lots	15	5
364	7 BN BSF CAMP TO RAJEN CHOWPATHI CHECKPOST ON NH 31	COOCH BEHAR	REGULAR	150	SC	CFS	35	45	1575	0	0	Draw of lots	0	3
365	Mathabanga on SH12A on RHS while travelling from Siliguri to Cooch Behar (within 1 km of Panchanan More)	COOCH BEHAR	REGULAR	110	Open	DC	30	30	900	25	60	Draw of lots	15	5
366	Cooch Behar Town (Within Municipal limit)	COOCH BEHAR	REGULAR	120	OPEN CC 1	DC	26	20	520	25	45	Draw of lots	15	5
367	From Nishiganj to Akrarhat on SH12A	COOCH BEHAR	REGULAR	110	SC	CFS	30	30	900	0	0	Draw of lots	0	3
368	Dinhata Town (Within Municipal limit but not on Highway)	COOCH BEHAR	REGULAR	100	Open	DC	26	20	520	25	45	Draw of lots	15	5
369	Between Khagrabari More to Pundibari on NH31 (old)/ NH17 (new)	COOCH BEHAR	REGULAR	150	OBC	DC	35	45	1575	25	75	Draw of lots	15	4
370	Tufanganj Town (Within Municipal limit but not on Highway)	COOCH BEHAR	REGULAR	100	Open	DC	26	20	520	25	45	Draw of lots	15	5
371	Mekhliganj Town (Within Municipal limit but not on Highway)	COOCH BEHAR	REGULAR	100	Open	DC	26	20	520	25	45	Draw of lots	15	5
372	Mathabanga Town (Within Municipal limit but not on Highway)	COOCH BEHAR	REGULAR	100	OBC	DC	26	20	520	25	45	Draw of lots	15	4
373	Between Barobisha and Pakriguri Checkpost on NH31C (old)/NH27 (new)	COOCH BEHAR	REGULAR	200	Open	CC	35	45	1575	25	10	Bidding	30	5
374	Patla Gram Panchayat office to Gosanimari on Dinhata- Patla Road	COOCH BEHAR	RURAL	100	Open	DC	30	30	900	12	30	Draw of lots	5	4
375	Panchanan More to MKBF Brick Field on Sitalkuchi Road	COOCH BEHAR	RURAL	100	Open	DC	30	30	900	12	30	Draw of lots	5	4
376	Gangarampur Town (Within Municipal limit but not on Highway)	DAKSHIN DINAJPUR	REGULAR	100	OBC	DC	26	20	520	25	45	Draw of lots	15	4
377	From Mehendipara Bus Stand to Deotala Bus Stand on NH 512	DAKSHIN DINAJPUR	REGULAR	150	OBC	DC	35	45	1575	25	75	Draw of lots	15	4
378	From Bataskuri to Gangarampur on NH512	DAKSHIN DINAJPUR	REGULAR	150	Open	CC	35	45	1575	25	10	Bidding	30	5
379	From Daulatpur to Dhumsadighi on NH512	DAKSHIN DINAJPUR	REGULAR	150	OBC	DC	35	45	1575	25	75	Draw of lots	15	4
380	Balurghat Town (Within Municipal limit)	DAKSHIN DINAJPUR	REGULAR	100	SC	CFS	26	20	520	0	0	Draw of lots	0	3
381	From Buniadpur to Dittolmore on NH512	DAKSHIN DINAJPUR	REGULAR	150	Open	DC	35	45	1575	25	75	Draw of lots	15	5
382	Between Patiram More to Balurghat on NH512	DAKSHIN DINAJPUR	REGULAR	150	Open	CC	35	45	1575	25	10	Bidding	30	5
383	Mahishbathan on Kaliaganj-Itahar Road	DAKSHIN DINAJPUR	RURAL	100	Open	DC	30	30	900	12	30	Draw of lots	5	4
384	Between PWD More and Banchhabhita on NH327	DARJEELING	REGULAR	150	SC	CFS	35	45	1575	0	0	Draw of lots	0	3
385	Mirik (Within 2 KM of Mirik SDO Office)	DARJEELING	REGULAR	100	ST	CFS	20	20	400	0	0	Draw of lots	0	3
386	From BSF Camp in Kadamtala to North Bengal Medical College and Hospital on LHS on NH27	DARJEELING	REGULAR	300	SC	CFS	35	45	1575	0	0	Draw of lots	0	3
387	Between Chekarmari More and Swarnamoti Shiv Mandir Katia on NH327(new)	DARJEELING	REGULAR	200	Open	DC	35	45	1575	25	75	Draw of lots	15	5
388	Mirik to Pashupati Gate on SH12	DARJEELING	REGULAR	110	Open	DC	30	30	900	25	60	Draw of lots	15	5
389	Between Matigara and Khaprail (Within 2 km of Khaprail Bazar) on RHS while travelling from Matigara to Khaprail	DARJEELING	REGULAR	300	Open	сс	30	30	900	25	10	Bidding	30	5
390	Darjeeling Town (Within Municipal limit)	DARJEELING	REGULAR	100	OBC	DC	20	20	400	25	45	Draw of lots	15	4
391	Siliguri Police Commissionerate Office to Champasarimore on Siliguri Gangtok Road	DARJEELING	REGULAR	150	SC	CFS	26	20	520	0	0	Draw of lots	0	3
392	Darjeeling More to Sukna on NH55 (old)	DARJEELING	REGULAR	150	SC	CFS	35	45	1575	0	0	Draw of lots	0	3
393	Between Ghoshpukur and Sahananda on Fulbari-Ghoshpukur Bypass Road	DARJEELING	REGULAR	200	Open	сс	35	45	1575	25	10) Bidding	30	5

394	Champasarimore to Veer Jawan on Nivedita Road, Pradhannagar (Within Siliguri Municipal	1	1				1		1	1	1	1 1		1
594	limit)	DARJEELING	REGULAR	150	ST	CFS	26	20	520	0	0	Draw of lots	0	3
395	JalpaiMore to Airview More on LHS while travelling from Jalpaimore to Mallaguri (Within Siliguri Municipal limit)	DARJEELING	REGULAR	150	OBC	DC	26	20	520	25	60	Draw of lots	15	4
396	Between Bihar More and Hatighisha More on NH31C (old)/ NH327 (new)	DARJEELING	REGULAR	150	Open	CC	35	45	1575	25	10	Bidding	30	5
397	Between Meherulla and Paschim Madati Toll Plaza on NH31 (old)/ NH27 (new)	DARJEELING	REGULAR	200	Open	CC	35	45	1575	25	10	Bidding	30	5
398	Between Panitanki More and Batasi on NH327 (new)	DARJEELING	REGULAR	150	Open	CC	35	45	1575	25	10	Bidding	30	5
399	Between PWD More and Pataram on NH327(new)	DARJEELING	REGULAR	150	Open	DC	35	45	1575	25	75	Draw of lots	15	5
400	Kurseong Town (Within Municipal limit but not on Highway)	DARJEELING	REGULAR	100	Open	DC	20	20	400	25	45	Draw of lots	15	5
401	Between Takdah to Teenchuley on Teenchuley Road (Within 2 km of Takdah Bazar)	DARJEELING	RURAL	50	Open	DC	30	30	900	12	30	Draw of lots	5	4
402	Debidanga to Milanmore on Champasari Milanmore Road	DARJEELING	RURAL	100	OBC	DC	30	30	900	12	30	Draw of lots	5	3
403	Between Panikauri and Fulbari on NH27 (new) on LHS while travelling towards Siliguri	JALPAIGURI	REGULAR	150	OBC	DC	35	45	1575	25	75	Draw of lots	15	4
404	Between Angrabhasha and Telepara More on NH31 (old)/ NH517 (new)	JALPAIGURI	REGULAR	150	Open	CC	35	45	1575	25	10	Bidding	30	5
405	Looksan More to Banarhat on NH31C(old)/NH17 (new)	JALPAIGURI	REGULAR	150	Open	DC	35	45	1575	25	75	Draw of lots	15	5
406	Between Chamurchi Bazar Dhupguri and Salbari on NH31D (old)/ NH27 (new)	JALPAIGURI	REGULAR	150	Open	CC	35	45	1575	25	10	Bidding	30	5
407	Between Doshdorga and Fatapukur on NH31D (old)/ NH27 (new)	JALPAIGURI	REGULAR	200	Open	CC	35	45	1575	25	10	Bidding	30	5
408	Champasari More to Checkpost on Gangtok Road (NH10)	JALPAIGURI	REGULAR	150	Open	CC	26	20	520	25	10	Bidding	30	5
409	Binnaguri to Telipara More on NH31C(old)/NH17(new)	JALPAIGURI	REGULAR	150	OBC	DC	35	45	1575	25	75	Draw of lots	15	4
410	Jalpaiguri Town (Within Municipal limit)	JALPAIGURI	REGULAR	120	Open	DC	26	20	520	25	45	Draw of lots	15	5
411	Between Damdim and Chalsa on NH31 (old)/ NH17 (New)	JALPAIGURI	REGULAR	150	OPEN CC 1	DC	35	45	1575	25	75	Draw of lots	15	5
412	Chalsa Bazar to Nagrakata more on NH31C(old) /NH17(new)	JALPAIGURI	REGULAR	150	OBC	DC	35	45	1575	25	75	Draw of lots	15	4
413	Dhupguri Town (Within Municipal limit but not on Highway)	JALPAIGURI	REGULAR	100	OBC	DC	26	20	520	25	45	Draw of lots	15	4
414	Mal Bazar Town (Within Municipal limit but not on Highway	JALPAIGURI	REGULAR	100	SC CC 1	CFS	26	20	520	0	0	Draw of lots	0	3
415	Between Moulani and Maynaguri on NH31 (old)/ NH717 (new)	JALPAIGURI	REGULAR	150	OPEN CC 2	DC	35	45	1575	25	75	Draw of lots	15	5
416	Between Chalsa Mahabari and Tilabari on NH31 (old)/ NH717 (new)	JALPAIGURI	REGULAR	150	OBC CC 1	DC	35	45	1575	25	75	Draw of lots	15	4
417	Between Ranirhat More and Tekatuli Bazar on NH31 (old)/ NH27 (new)	JALPAIGURI	REGULAR	200	Open	CC	35	45	1575	25	10	Bidding	30	5
418	Between Ulladabri More and Maynaguri BDO Office on NH31 (old)/ NH27 (new)	JALPAIGURI	REGULAR	150	Open	СС	35	45	1575	25	10	Bidding	30	5
419	Between Balapara More and Goshala More on NH31D (old)/ NH27 (new)	JALPAIGURI	REGULAR	200	Open	CC	35	45	1575	25	10	Bidding	30	5
420	Between Mohitnagar and Motorist Inn Motel Bahadur on NH31D (old)/ NH27 (new)	JALPAIGURI	REGULAR	200	Open	СС	35	45	1575	25	10	Bidding	30	5
421	Ambari on Gazoldoba Road (within 1 km from Ambari Railway Crossing)	JALPAIGURI	RURAL	100	Open	DC	30	30	900	12	30	Draw of lots	5	4
422	Meteli Bazar Within 1 KM of Public Library	JALPAIGURI	RURAL	100	Open	DC	30	30	900	12	30	Draw of lots	5	4
423	Raninagar (Within 5 km of Polytechnic College but not on Highway)	JALPAIGURI	RURAL	100	OBC	DC	30	30	900	12	30	Draw of lots	5	3
424	Within 2km from Belakoba High School towards Rangdhamali	JALPAIGURI	RURAL	100	OBC CC 1	DC	30	30	900	12	30	Draw of lots	5	3
425	Within 3 KM from Chitarpar Checkpost towards Ranirhat More on Ranirhat Road	JALPAIGURI	RURAL	100	Open	DC	30	30	900	12	30	Draw of lots	5	4
426	Between Baidyanathpur and Chanchal on NH31 (new)	MALDA	REGULAR	200	SC	CFS	35	45	1575	0	0	Draw of lots	0	3
427	Bandhapukur to Narayanpur on Malda Bypass	MALDA	REGULAR	150	OBC	DC	35	45	1575	25	75	Draw of lots	15	4
428	Amriti on SH10 between PHE Office and Bhartitari High School	MALDA	REGULAR	120	SC	CFS	30	30	900	0	0	Draw of lots	0	3
429	Between Farakka Bridge and Lakshmipur Toll Plaza on NH34 (old)/ NH12 (new)	MALDA	REGULAR	150	OBC	DC	35	45	1575	25	75	Draw of lots	15	4
430	From 12th Mile Bus Stand to Kangsha More on Nalagola-Malda Road	MALDA	REGULAR	100	SC	CFS	30	30	900	0	0	Draw of lots	0	3
431	On NH34 between KM Stone 322 to 332	MALDA	REGULAR	150	OBC	DC	35	45	1575	25	75	Draw of lots	15	4
432	Between 16th Mile Baishnabnagar and Kaliachowk on NH34 (old)/ NH12 (new)	MALDA	REGULAR	200	Open	СС	35	45	1575	25	10	Bidding	30	5
433	English Bazar Regulated Market and Madhughat Bridge -1 on NH34 (old)/ NH12 (new)	MALDA	REGULAR	200	Open	CC	35	45	1575	25	10	Bidding	30	5
434	Between Mayna and Gazole on NH34(old)/ NH12 (new) on LHS while travelling from Malda to Raiganj	MALDA	REGULAR	150	Open	CC	35	45	1575	25	10	Bidding	30	5
435	On NH34 between KM Stone 336 to Km Stone 340	MALDA	REGULAR	150	OBC	DC	35	45	1575	25	75	Draw of lots	15	4
436	Between Mahakal Bona More and Gazole More on NH131A (new)	MALDA	REGULAR	150	Open	DC	35	45	1575	25	75	Draw of lots	15	5
437	Between Dhumadighi more and Pandua More on NH34 (old)/ NH12 (new)	MALDA	REGULAR	150	SC	CFS	35	45	1575	0	0	Draw of lots	0	3

438	Between Pahari Bhita and Samsi on NH131A (new)	MALDA	REGULAR	150	Open	DC	35	45	1575	25	75	Draw of lots	15	5
	Between Khelanpur and Purba Rarial on NH31 (new)	MALDA	REGULAR	150	Open	DC	35	45	1575	25	75	Draw of lots	15	5
	Between Salalpur and Harishchandrapur PS on NH31 (new)	MALDA	REGULAR	150	Open	DC	35	45	1575	25	75	Draw of lots	15	5
440	Between Salaipur and Hanshchandrapur PS on NH31 (new) Between Balupur and Nawapara More on NH131A (new)	MALDA	REGULAR	150	Open	DC	35	45	1575	25	75	Draw of lots	15	5
	Mothabari on PWD road(within 3 Kms of Mothabari Primary school)	MALDA	RURAL	80	OBC	DC	30	30	900	12	30	Draw of lots	5	3
	Seshroad to Mohanpur on PWD road	MALDA	RURAL	80	Open	DC	30	30	900	12	30	Draw of lots	5	4
	Within 3 KM from Daulatabad Police Station towards Chaighari on SH11 Berhampore Jalangi													
	Highway	MURSHIDABAD	REGULAR	100	Open	DC	30	30	900	25	60	Draw of lots	15	5
445	On SH 11A, within 2 KM from Tiktikipara More near Ayesbag towards Lalbag	MURSHIDABAD	REGULAR	100	Open	DC	30	30	900	25	60	Draw of lots	15	5
446	FROM DHULIAN TO FARAKKA ON NH-34 (LHS)	MURSHIDABAD	REGULAR	150	OBC	CC	35	45	1575	25	10	Bidding	30	4
	On NH 34 (old) within 4 KM from Reginagar Police Station towards Berhampore on RHS	MURSHIDABAD	REGULAR	150	Open	сс	35	45	1575	25	10	Bidding	30	5
448	ON NH 34 NEAR SEIKHDIGHI WITHIN 3 KM FROM SHIV RICE MILL ON LHS WHILE GOING FROM MOREGRAM TO FARAKKA	MURSHIDABAD	REGULAR	150	Open	DC	35	45	1575	25	75	Draw of lots	15	5
449	ON SH 11 NEAR DAULATABAD GHUNI VILLAGE WITHIN 2 KM FROM GOVT HOSPITAL	MURSHIDABAD	REGULAR	150	Open	CC	30	30	900	25	10	Bidding	30	5
450	On NH 34 between SBI Katabagan Branch to New Balarampur halt	MURSHIDABAD	REGULAR	150	SC CC 1	CFS	35	35	1225	0	0	Draw of lots	0	3
451	Panchgram to Nakpur Check Post on SH-7	MURSHIDABAD	REGULAR	110	OBC	DC	30	30	900	25	60	Draw of lots	15	4
452	Lalbagmore to Roshanbag on SH 11 A	MURSHIDABAD	REGULAR	100	OBC	DC	30	30	900	25	60	Draw of lots	15	4
453	On NH 34 between Punjab National Bank Talai Branch to MDI Gate on RHS	MURSHIDABAD	REGULAR	150	OBC PH	DC	35	45	1575	25	75	Draw of lots	15	4
454	On NH 34 between PNB Devkunda Branch to Beldanga Police Station, Both sides	MURSHIDABAD	REGULAR	150	SC PH	CFS	35	35	1225	0	0	Draw of lots	0	3
455	On SH 11A, Bhagwangola Allahabad bank to Lalgola college more, Lichutola	MURSHIDABAD	REGULAR	100	OBC	DC	30	30	900	25	60	Draw of lots	15	4
456	On SH 11A Between Panditpur & Raghunathganj	MURSHIDABAD	REGULAR	100	OBC	DC	30	30	900	25	60	Draw of lots	15	4
457	On SH 11 Within 5 Km from Kandi Bus stop towards Purandarpur	MURSHIDABAD	REGULAR	100	OBC	DC	30	30	900	25	60	Draw of lots	15	4
458	WITHIN 2 KM FROM ISLAMPUR MORE ON SH-11	MURSHIDABAD	REGULAR	134	Open	CC	30	30	900	25	10	Bidding	30	5
459	ON SH11A WITHIN 3 KM FROM KATRA MASJID TOWARDS BERHAMPORE	MURSHIDABAD	REGULAR	150	Open	CC	30	30	900	25	10	Bidding	30	5
460	ON SH 11A WITHIN 2 KM FROM RAGHUNATHGANJ BUS STAND TOWARDS UMARPUR	MURSHIDABAD	REGULAR	100	Open	СС	30	30	900	25	10	Bidding	30	5
461	On NH 34 between Bank of India Ahiron Branch to Kisorpur Road Intersection	MURSHIDABAD	REGULAR	150	OBC CC 1	DC	35	45	1575	25	75	Draw of lots	15	4
462	Within Murshidabad Municipal Limits (Not on NH/SH)	MURSHIDABAD	REGULAR	110	SC CC 1	CFS	26	20	520	0	0	Draw of lots	0	3
463	Within Dhuliyan Municipal Limits (Not on NH/SH)	MURSHIDABAD	REGULAR	110	SC	CFS	26	20	520	0	0	Draw of lots	0	3
464	Within Jangipur Municipal Limits (Not on NH/SH)	MURSHIDABAD	REGULAR	110	OPEN CC 1	DC	26	20	520	25	45	Draw of lots	15	5
465	Within Kandi Municipal Limits (Not on NH/SH)	MURSHIDABAD	REGULAR	110	OBC	DC	26	20	520	25	45	Draw of lots	15	4
466	Within Jiyaganj/Azimganz Municipal Limits(Not on NH/SH)	MURSHIDABAD	REGULAR	110	SC	CFS	26	20	520	0	0	Draw of lots	0	3
467	Within Berhampore Municipal Limits(Not on NH/SH)	MURSHIDABAD	REGULAR	110	OBC	DC	26	20	520	25	45	Draw of lots	15	4
	Within Beldanga Municipal Limits (Not on NH/SH)	MURSHIDABAD	REGULAR	110	OBC PH	DC	26	20	520	25	45	Draw of lots	15	4
	On NH 34 between New Farakka Railway station main entrance to Gholakandi Bus stop on LHS	MURSHIDABAD	REGULAR	180	SC	CFS	35	45	1575	0	0	Draw of lots	0	3
	On NH 34 between Nimtala Main Road intersection (with NH 34 near Dhuliyan) and Gholakandi Bus stop on RHS	MURSHIDABAD	REGULAR	150	OBC	DC	35	45	1575	25	75	Draw of lots	15	4
471	On NH 34 between Sukher More Bus Stop to Catholic Church Polsanda on LHS	MURSHIDABAD	REGULAR	150	SC	CFS	35	45	1575	0	0	Draw of lots	0	3
	On NH 34 between Polsanda Power substation to Sukher More on LHS	MURSHIDABAD	REGULAR	150	OPEN CC 1	DC	35	45	1575	25	75	Draw of lots	15	5
473	On NH 34 between New Balrampur Halt to State Bank of India Sargachhi Branch	MURSHIDABAD	REGULAR	150	SC	CFS	35	45	1575	0	0	Draw of lots	0	3
474	On NH 34 between Sargachhi Station Road intersection (with NH 34) and Allahabad Bank Junka Branch	MURSHIDABAD	REGULAR	150	OBC	DC	35	35	1225	25	75	Draw of lots	15	4
475	On Berhampore Amtala Road within 5 KM from Katabagan School towards Berhampore	MURSHIDABAD	RURAL	70	OBC	DC	30	30	900	12	30	Draw of lots	5	3
476	On Sargachhi-Binkar Khidirpur Road	MURSHIDABAD	RURAL	70	OBC	DC	30	30	900	12	30	Draw of lots	5	3
477	On Berhampore Lalgola road from rajarampur road intersection to Birampur High school	MURSHIDABAD	RURAL	90	OBC	DC	30	30	900	12	30	Draw of lots	5	3
478	On Domkal Karimpur Road	MURSHIDABAD	RURAL	90	OBC	DC	30	30	900	12	30	Draw of lots	5	3
479	ON SARITALA ROAD WITHIN 2 KM FROM GURUDASPUR PRIMARY SCHOOL	MURSHIDABAD	RURAL	100	SC	CFS	30	30	900	0	0	Draw of lots	0	2
480	JALANGI SAGARPARA ROAD NEAR NARSINGHPUR WITHIN 2 KM FROM B.ED COLEGE	MURSHIDABAD	RURAL	90	Open	СС	30	30	900	12	5	Bidding	10	4

481	On Bharatpur Salar Road within 4 KM from Salar Police station towards Bharatpur	MURSHIDABAD	RURAL	100	Open	DC	30	30	900	12	30	Draw of lots	5	4
482	On Belgram Bolgona Kalna Road within 3 KM from Kantur Bus stop,Village Kantur	MURSHIDABAD	RURAL	100	Open	DC	30	30	900	12	30	Draw of lots	5	4
483	JARUR VILLAGE ,BLOCK- RAGHUNATHGANJ-1	MURSHIDABAD	RURAL	90	SC	CFS	30	30	900	0	0	Draw of lots	0	2
484	Between Raiganj Siliguri More and Kalibari on NH34 (old)/ NH12 (new)	UTTAR DINAJPUR	REGULAR	150	OPEN CC 2	DC	35	45	1575	25	75	Draw of lots	15	5
485	Dalkhola to Domohona on NH34 (old)/NH12 (new)	UTTAR DINAJPUR	REGULAR	150	OBC CC 1	DC	35	45	1575	25	75	Draw of lots	15	4
486	Raiganj Town (Within Municipal limit but not on Highway)	UTTAR DINAJPUR	REGULAR	100	OPEN CC 1	DC	26	20	520	25	45	Draw of lots	15	5
487	Between Bangar Checkpost and Baliapara on NH34 (old)/ NH12 (new)	UTTAR DINAJPUR	REGULAR	200	Open	CC	35	45	1575	25	10	Bidding	30	5
488	BETWEEN ALTAPUR AND TUNGIDIGHI MORE ON NH34 (OLD)/ NH12 (NEW)	UTTAR DINAJPUR	REGULAR	150	ST	CFS	35	45	1575	0	0	Draw of lots	0	3
489	Between Itahar Chowrasta and Durgapur in Uttar Dinajpur on NH34 (old), NH12 (new)	UTTAR DINAJPUR	REGULAR	200	Open	CC	35	45	1575	25	10	Bidding	30	5
490	Between Botolbari and Krishnamuri on NH34 (old), NH12 (new)	UTTAR DINAJPUR	REGULAR	150	OBC	DC	35	45	1575	25	75	Draw of lots	15	4
491	Kaliaganj (Within Municipal limit but not on Highway)	UTTAR DINAJPUR	REGULAR	100	SC	CFS	26	20	520	0	0	Draw of lots	0	3
492	Between Panisalahat Market and Baroduary on NH34 (old), NH12 (new)	UTTAR DINAJPUR	REGULAR	200	Open	DC	35	45	1575	25	75	Draw of lots	15	5
493	Between Khikhirtola to Tunibhita on NH34 (old)/NH12 (new)	UTTAR DINAJPUR	REGULAR	150	Open	DC	35	45	1575	25	75	Draw of lots	15	5
494	Between Panjipara and Balichuka Paschim on NH31(old)/ NH27 (new)	UTTAR DINAJPUR	REGULAR	150	OBC	DC	35	45	1575	25	75	Draw of lots	15	4
495	Khagore to Dharampur on Goalpokher Kishanganj Road	UTTAR DINAJPUR	RURAL	50	OBC	DC	30	30	900	12	30	Draw of lots	5	3
496	Nazirpur, Rasakhowa 1 No. Gram Panchayat on Domohona-Dhantola Road	UTTAR DINAJPUR	RURAL	50	Open	DC	30	30	900	12	30	Draw of lots	5	4
497	Chowsia on Patagora Road	UTTAR DINAJPUR	RURAL	50	SC	CFS	30	30	900	0	0	Draw of lots	0	2
498	Jhari on Botolbari-Rasakhowa Road	UTTAR DINAJPUR	RURAL	50	SC	CFS	30	30	900	0	0	Draw of lots	0	2
499	Haptiagachh to Bhaishpita on Bhaishpita Road	UTTAR DINAJPUR	RURAL	50	Open CC 1	DC	30	30	900	12	30	Draw of lots	5	4
500	Goalpokher PS to Lodhan Chowk on Islampur Lodhan Road	UTTAR DINAJPUR	RURAL	50	OBC	DC	30	30	900	12	30	Draw of lots	5	3

Volumes indicated are based on market conditions and may undergo change. Applicants are advised to make their own assessment of potential.

* The site should either be Owned or on lease with applicant for minimum 19 years 11 months or Applicant should have firm offer for the same.

The explanation of the columns in the table is given in the Brochure which also contains detailed guidelines of selection procedure for dealership along with Application form and other relevant details. The Brochure is available at a cost of Rs. 100/- from the Corporation Offices at the addresses mentioned below. It is also hosted in the Corporation Website (www.bharatpetroleum.in/www.hindustanpetroleum.com/www.iocl.com/ www.petrolpumpdealerchayan.in) and can be downloaded free of cost.